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ननरे्दश् सबी प्रश्न हर ियना अननवाम ्ह ्-       (6x1=6) 

प्र.1 सही र्विल्ऩ चुननए?-  

Choose the correct option- 

(1) ननरे्दशाांि होता ह ्- 

(अ) अांिगझितीम भाध्म 

(फ) भध्मिा 

(स) फहुरि 

(र्द) साऩेऺ भाऩ 

(i) Index number is- 

(a) arithmetic mean 

(b) median  

(c) mode 

(d) relative measurement  

 

(2) अन्तय िोटट यीनत रे्दन ह ? 

(अ) िार ्र्ऩमसन् िी 

(फ) ब्स्ऩमयभ न िी 

(स) कपशय िी 



(र्द) फाउरे िी 

(ii) Rank Difference method has been given by- 

(a) Karl Pearson 

(b) Spearman 

(c) Fischer  

(d) Bowley 

 

(3) ऩूि ्ऋिात्भि सह-सम्फन्ध सर्द व होता ह ? 

(अ) -2 

(फ) -1 

(स) 0 

(र्द) +1 

(iii) Perfect negative correlation is always- 

(a) -2 

(b) -1 

(c) 0 

(d) +1 

 

(4) प्रभाऩ र्वचरन िी गिना सर्द व िी जाती ह ? 

(अ) भाध्म से 

(फ) फहुरि से 

(स) भध्मिा से 

(र्द) उऩमुक््त भें से िोई नहीां 

(iv) standard deviation is always calculated from the- 

(a) mean 



(b) mode 

(c) median 

(d) non of the 

 

(5) 300, 310, 308, 210, 330 एवां 400 इनिा र्वस्ताय ह ? 

(अ) 200 

(फ) 210 

(स) 190 

(र्द) 308 

(v) The range of 300, 310, 308, 210, 330 and 400 is- 

(a) 200 

(b) 210 

(c) 190 

(d) 308 

 

(6) बाय होता ह ? 

(अ) वास्तर्वि  

(फ) अनुभाननत 

(स) उऩमुक््त र्दोनों 

(र्द) उऩमुक््त भें से िोई नहीां 

(vi) Weight is- 

(a) Actual 

(b) Assumed 

(c) Bath of above 

(d) None of the above 



 

प्र.2 सत्म/असत्म लरझिए?        (1x6=6) 

True/False 

(1) भाध्म िा चचत्रभम प्रर्दशन् सम्बव ह  (   )  

(i) Diagrammatic presentation of mean is possible. (   ) 

(2) एि र्वभा चचत्र भें िेवर ऊँचाई िा प्रमोग किमा जाता ह । (  )  

(ii) Only the height is used in one--dimensional diagram. (   ) 

(3) कपशय िा िीभत सूचिाांि आर्दश ्सूचिाांि िहराता ह । (  )  

(iii) Fisher's price index is known as an ideal index. (  ) 

(4) अर्श्ास्त्र प्रािृनति र्वऻानों िे सभान ही एि ननब्श्चत र्वऻान ह । (  )  

(iv) Just like natural sciences, economics also is a specific. (   ) 

(5) प्रार्लभि सभांि भौलरि होते ह । (  ) 

(v) Primary data is original data. (  ) 

(6) र्वस्ताय सबी आांिड़ों ऩय आधारयत होता ह ।  (  ) 

(vi) Range is based on the entire data series (   ) 

 

प्र.3 एि शलर्द/वाक्म भें उत्तय लरझिए?       (1x7=7) 

Answer in one word/sentence. 

(1) प्रभाऩ र्वचरन गुिाांि िा क्मा सूत्र ह ? 

(i) What is the formula for calculating coefficient of standard. 

(2) र्दर्वतीम शे्रिी िा भाध्म किसे िहते ह ? 

(ii) What is called as average of the second order. 

(3) सह सम्फन्ध गुिि िी सीभा क्मा होती ह ? 

(iii) What is the range of correlation coefficient. 

(4) मटर्द र्दो चयों भें सह-सम्फन्ध 0.95 ह  तो इसिा क्मा अर् ्ह ? 



(iv) If the correlation between two variables is 0.95, there what does this 
mean. 

(5) उत्ऩार्दन भें किसिा सजृन होता ह ? 

(v) What is created in the course of production. 

(6) वग ्र्दो ननमभ किसने टर्दमा ह ? 

(vi) Who has given the 'power law'. 

(7) ऩरयभाऩ चचत्र िौन से होते ह ? 

(vii) What are volume diagrams. 

 

प्र.4 रयक्त स्र्ानों िी ऩूनत ्िीब्जए?       (1x7=7) 

Fill in the Blanks. 

(1) भध्म भूल्म = ऩर्द िी ननम्न सीभा 
2

 + .............. 

(i) mid value (m.y.) = 𝑙𝑜𝑤𝑒𝑟  𝑟𝑎𝑛𝑔𝑒  𝑜𝑓  𝑡𝑕𝑒 𝑜𝑏𝑠𝑒𝑟𝑣𝑎𝑡𝑖𝑜𝑛  

2
 + .............. 

(2) Po प्रर्दलशत् ियता ह  ....................वष ्िा भूल्म 

(ii) Po shows price of ................ year. 

(3) सह-सम्फन्ध तिनीि िी िोज ....................ने िी र्ी। 

(iii) Technique of correlation was discovered by ............ 

(4) चतुर्ि् र्वस्ताय िा सूत्र ..................... ह । 

(iv) ................. is the formula for quartile deviation. 

(5) प्रभाऩ र्वचरन िा र्वचाय .................ने टर्दमा र्ा। 

(v) The thought of standard deviation was given by ........... 

(6) 3 भध्मिा - 2 भाध्म = .................। 

(vi) 3 median - 2 mean = ............  

(7) सभग्र भें से छाांटी हुई इिाइमों िो ................िहते ह । 

(vii) Units which are sorted from the population are known as ........... 



 

प्र.5 सही जोड़ी फनाइए?         (1x6) 

(1) याजस्व    -  (ि) आम व व्मम िा सभामोजन 

(i) Revenue   -  (a) Adjustment of income and expenditure  

(2) एि-र्वभा चचत्र  -  (ि) र्दण्ड िे रूऩ भें 

(ii) One-dimensional diagram - (b) in the form of bars  

(3) र्दर्व-र्वभा चचत्र    -  (ग) आमत चचत्र 

(iii) Two dimensional diagram  -  (c) Rectangular Diagram 

(4) एि सतत ्शे्रिी भें भध्मिा ऩर्द    -  (घ) N/2 

(iv) Median value in a continuous series  -  (d) N/2 

(5) प्रभाऩ र्वचरन    -  (ड.) िार ्र्ऩमसन् 

(v) Standard deviation   -  (e) Karl Pearson 

(6) अन्तय िोटट यीनत    -  (च) ब्स्ऩमयभ न 

(vi) Rank difference method  -  (f) Spearman 

 

प्र.6 ननम्न प्रश्नों िे सांक्षऺप्त भें उत्तय लरझिए- (िोई- 10) 

(1) वगीियि िा अर् ्फताइए? 

Write the meaning of classification. 

(2) चचत्ररेि क्मा ह ? 

What is pictogram 

(3) भध्मिा िी ऩरयबाषा र्दीब्जए? 

Give the definition of median.  

(4) अर्श्ास्त्र िी ऩरयबाषा र्दीब्जए एड्भ ब्स्भर् िे अनुसाय ? 

Write definition of Economics according Adam Smith. 

(5) र्वननभम किसे िहते ह ? 



What is Exchange. 

(6) अऩकियि किसे िहते ह ? 

What is meant by dispersion. 

(7) चतुर्ि् र्वचरन किसे िहते ह ? 

Write the method of measures of dispersion. 

(8) सह सम्फन्ध िी एि ऩरयबाषा लरझिए? 

Give a definition of correlation. 

(9) ननरे्दशाांि किसे िहते ह ? 

What is meant by index numbers. 

(10) उऩबोक्ता भूल्म ननरे्दशाांि िी ऩरयबाषा लरझिए ? 

Write definition of consumer price index. 

(11) उऩबोग किसे िहते ह ? 

What is meant by production. 

(12) फहुरि िी ऩरयबाषा र्दीब्जए? 

Write definition of mode. 

 

प्र.7 रघु उत्तयीम प्रश्न (िोई-4)        (3x4=12) 

Short Answer type questions (any-4) 

(1) फहुरि िे िोई तीन र्दोष फताइए। 

(i) Mention three dements of mode.  

(2) अर्श्ास्त्र िे िरा होने िे ऩऺ भें िोई तीन ति लरझिए।  

(ii) Economics is an and give argument in favour of this. 

(3) वगीियि तर्ा सायिीमन भें अन्तय फताइए। 

(iii) Differentiate between classification and tabulation. 

(4) अऩकियि िे िोई चाय उर्दरे्दश्म फताइए। 



(iv) State four objective of dispersion. 

(5) धनात्भि एवां ऋिात्भि सह सम्फन्ध भें अन्तय लरझिए।  

(v) Differentiate between positive and negative correlation. 

(6) िार ्र्ऩमसन् िे सह-सम्फन्ध गुिाांि िे तीन भहत्व लरझिए।  

(vi) Write three importance of Karl Pearsons coefficient of correlation. 

 

प्र.8 र्दीघ ्उत्तयीम प्रश्न (िोई-4)        (4x4=16) 

(1) येिीम तर्ा अयेिीम सह सम्फन्ध भें अन्तय फताइए? 

Differentiate between linear and non liner correlation. 

(2) अऩकियि ऻात ियने िी र्दो यीनतमाँ फताइए? 

Explain two methods to calculate dispersion. 

(3) ........... 

(iii) Calculate arthmetic mean. 

Marks obtained  0-4  4-8  8-12  12-16 

Student   4  8  2  1 

(4) भध्मिा िी गिना िीब्जए। 

28, 34, 14, 6, 42, 0, 102, 25, 34, 11, 102 

(iv) Calculate median for the given series. 

28, 34, 14, 6, 42, 0, 102, 25, 34, 11, 102 

(5) अर्श्ास्त्र िी सीभाओां िी सांक्षऺप्त व्माख्मा िीब्जए ? 

Interpret the economics of limitations. 

(6) भाशर् तर्ा योबफन्स िी ऩरयबाषा भें क्मा सभानताएां ह ? 

Definitions given by marshal and robbins. 

(7) लभचश्रत र्दण्डचचत्रों िे प्रिाय िो सभझाइमे ? 

Explain the types of compound Bar diagrams. 


